CERTIFICATE OF CANVASS RESULTS

STATE OF ILLINOIS

COUNTY OF GRUNDY

I, the undersigned Canvassing Official of GRUNDY COUNTY do
hereby Certify that the following Election Results are a
tabulation of the votes cast in the various precincts at the
CONSOLIDATED ELECTION held on April 4, 2023 for the

Candi dates, herein set forth.

Nugf L(Jw L& /nm\u%//f/

(‘/LL(R{ A/def[g
Grundy County Clerk/Election Authority

KAY T. OLSON

DATED THIS 19th DAY OF APRIL, 2023

This document, including this page contains 190 pages.
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